E—— o T

(1/200,000)

LY

AL

10 200 400 600 .80{.] 1000m

L

BEX—-1(1)
THKEBERRE - W KEFINERRE LER

(1/2&000)' |
BAREZRNDIELE TER
&S 423-1-021
ERE AR
T 7E MARNIHAERERFHT

COE(E, ELEREDRREEZES T, BRFETOEFHK25000% N EFi# 2200000288 LI=£ D TH S, (KEHESRI1JIH131)




S
S~

e N\
Y/ 4

2%

77 NN N\ ~T~
>

77N

7
~
VA

Y

N
NN N gt
TN

=
i —
=

B
%\%}
bW
\\\\
| X 100m
0
£ T b S 5 — e A= B ‘ N R .
BKX—2 (1) LB REIIE RS B RO/ HST BE [] A oﬁ)i%% +5 SRS 493- [ —021
. . TEROEEM 1 mHA 5 BE. TEED <
ii@‘ﬁi%%ﬁkzﬁ " iE’J‘ﬁé%ﬁi’:‘“%TfhEiﬁ Ep—— BEIC & B AN/ M £ 4B 5 Kis @ g = %250% . N
Eigtz szﬁ%%ﬁ%; LEROBSA 1 mBIEBE. TEED = = 7. \%F ,;E,,.L% 22 =2
FORELE | Bayic £ 5 HHS0N MIUTORS, R
RO =5 12,500 | ir SH2E6A28 |MEH |sesutssmrsssas




SEEN

(€D 3)

% 100m

!
322 4y T L B 2 g B < B8 N .
%%éﬂ THKEHLEETER _EOELICKLT IRE ﬂID OE) ’ % iE;ﬁ /*;ﬁ'%% 423_ I _021
TEROBEN 1 mBRHBE. TEED @
e | PHIEBAAN e AR BE “ = #9502 T34 —
EEARES | LEROBEN1mBLSBE. LEHD s = = iR .
FORRCH | Buyic £ 5 HHSON MUTORS, vss7i R
FrasoRs = 12,500 | s A SH2E6A28 |FIER | seruisssrsrsas




423-1-021/HeR 2EEH

HABORE |tEROA KN/ | LERAOES M) X% RFNSORME |tEROH /) | LEROES M X4

0~1

1~2 12.59 0. 32 Y
2~3 12.34 0. 33 Y
3~4 1211 0.33 Y
4~5 6.16 0. 22 Y
5~6 3. 94 0.17 Y
6~1 2,48 0. 14 Y
7~8 1.69 0.13 Y
8~9 1.46 0.13 Y
9~10 1.05 0. 13 Y
10~11 0. 71 0. 13 Y
11~12 0.70 0. 13 Y
12~13 0.58 0. 14 Y
13~14 0.28 0. 18 Y
14~15 0.34 0.16 Y
15~16 0.23 0.19 Y




